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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

TH HIS/ TR F § W E | W Tk H =R T 3R 9
FHUEIH T |

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Shfeush'’ YR 1§ fEeh T i 40 § qen
YT &1 AfHTRE " YRR AT 7 SR 3HF e 21 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HUT Ueh / PART ONE

(T 99 o ST S / Answer all the questions)

1.1

1.2

=l Uieh U9 o ST % R (aehed fU T
gl T Had U fasew I ot 3@
YI-U oh | STER] i T STHAR "
I woTek U, Sa fou e el o o,
S ead

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question

paper, following instructions therein.
(1x10)

HP hl e Y Sired o forg =1 5 9 forg
ST i STEATIHAT Bl © 2

(A) T 3Ed

(B) 3§

(©) #HR

(D) wieH

Which one of the following devices is

required to connect a computer to the
internet ?

(A) Pen Drive
(B) Mouse
(€©) Memory
(D) Modem

frfafed # & HH- THR 1 TR TG © ?
(A) SRTTH. (RAM)

(B) THK.ULSRSNTH. (FPROM)

(C©) REPEATER

(D) SR.3.TH. (ROM)

Which of the following is not a type of
memory ?

(A) RAM

(B) FPROM

(C©) REPEATER

(D) ROM

1.3

1.4

1.5

ISP 319+ JZerh o o

e Sftheh 1 STRH-USH &l |
(A) FeTE THE TRE

(B) ToHshIESR TE TEe

(C) Eugd g e

(D) ST H ¥ iE Tl

ISP exchanges internet traffic between their
networks by :

internet exchange point

ECIR

B) subscriber end point
C) isp end point
D) none of the above

R FHE &g
A) e fafam

B) Wfehe feafam

Q) ehe frafem oiR wfdhe fafem Al
D) SR H ¥ FE T

Internet works on :

packet switching

(B) circuit switching

both packet switching and circuit
switching

none of the above

e TH g

(A) AR I AeTh

(B) <cfifas Heeh

(C) Tk A

(D) fidre rdt

Telnet is a :

(A) Network of Telephones
(B) Television Network
©)

(D)

Remote Login
Remote Copy
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1.6

1.7

T HgR faeen S uh € W g swEm
el 1 T e 5 S

(A) drEifoeh g9d golteit

(B) W UrnfHT faeeq

(C) <reH AR fowed

(D) HIERT faeen

A computer system that permits multiple

users to run programs at same time :
(A)

Real time system

(B) Multi programming system
(C) Time sharing system

(D) Multitasking system

Th el HaOR T S FH g T 63
POl Wl 9T H SIg ol T USH Rt

LAN

C) WAN
IR e

A computer communication technology
that provides a way to interconnect
multiple computer across short distance

LAN

B) MAN

WAN

Wireless network

fefSiea a7 fewn
fefSieat awera fewn

SRR gy feth

el JHeRd fewh
DVD stands for :

digital value disk

B) digital versatile disk
direct versatile disk
dual versatile disk

1.9

1.10

fefSea o1 1 T ¥ iR
39 fawia uftafda o=ar ¢

TALTA. HTE
q=e e
HreH

Hife Hre

(A)
(B)
©)
(D)

Convert digital data to analog
and vice versa.

(A) LAN card
(B)
(©)
(D)

Sound card
Modem

Video card

AfereRieT Yene Teae 3o fagia 1 s9am =
g

g 3R e

R TS HES

(Y 3R 92 q1 R TS BEs Al
=9 TS e

Most packet switches use this principle

(A) Stop and wait
Store and forward

Both Stop and wait and Store and
forward

Stop and forward
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

=1 fau T uieR farawoT o of wE ¥ St
TAG | Teh God SUFe faehed o 31
W YYA-UA & 9T UGS HhE T
‘T’ ST uAK H, AR fqu U
fadeit & oER, TSt Y| (1x10)

Teh TSH & Afforehel Ued & ®9 § off S
SR

Teh 2o T A2aeh T T el ol Tehdl |

2141, TR Wed Jreed ¢ |

99 T % fau fewice 9 e 80 7 |

ISR TeX sHiee Jehr o1 fiex

13,159 (PKZIP) 1 3TN Wigadl shl Tfsh@
71 fefshe & & fer feman wmar 21

TR T foRvg sheged § o fafv Jeaeh
& o= ST o fore T e S g1

T T arfen fawey §)

Sfoh quiteh T8 T o faIQ Tedlfer uige
gfaffe sl ST foRan ST ® 1

TF IO H G Hia few & ST
FId BU, TS W= &1 faeaer
3TITTF ¢ |

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the "OMR" sheet attached
to the question paper, following
instructions therein. (1x10)

MAC address is also known as logical
address.

Collisions cannot occur on a token ring
network.

UDP is connection less protocol.

Default port number for Web Server is 80.

Laser Printer is impact type printer.

PKZIP utility is used to encrypt or decrypt
files

A router is a specialized computer that is
programmed to interface between different
networks.

Linux is an operating system.

To store real integers floating point
representation is used.

In a program using subroutine call
instruction, it is necessary to clear the
instruction register.
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3. ohicH X U fau 7w vreat iR areil @t i Y U fau o frerean wwsifia s1ef/v1sdi/
TRl | i | 3T Taehed w9=-ue o wrer e ¢ SfiuHe ! S usek W, SHW fau T R

T T i gU, TS1 oht | (1x10)
X Y
3.1 [AeWT (McFee) A =il
3.2 [dd. B. |aeh St
3.3 |d}..Se.31E. 91, (PKZIP) C. [Feas
3.4 [shg1d. (BUS) D. [ [
3.5 |sTE.di (IP) E. |Tafaee |9
3.6 o F. |CH.TH.-ATHE e THETH
3.7 [SrEmeka fom G. [aIEE
3.8 |[T=g. T (WAN) H. [330< YRehid
3.9 | g I |eiTeH faeem
3.10 2o J. |
K. |fHer T wra w1 ity &
L. [®EE
M. |f&r=
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3.  Match words and phrases in column X wi

the closest related meaning/ word(s)/phrase(s)

in column Y. Enter your selection in th@"OMR" answer sheet attached to the question

paper, following instructions therein. (1x10)
X Y
3.1 |McFee A. |Data Compression Software
3.2 |PPT B. |Network Topology
3.3 [PKZIP C. |Network
3.4 (BUS D. |Antivirus Software
3.5 (IP E. |Transmission Mode
3.6 |Inkjet F. |MS-Office file extension
3.7 |Recycle Bin G. |Virus
3.8 (WAN H. |Internet Protocol
3.9 [Full Duplex I. |Operation System
3.10 |Trojan J. |Printer
K. [Restore Deleted File
L. |KeyBoard
M. |Switch
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4. T U 9 H A S TE get 9 Ueh I 91 91 okl foren o fa fem o ¥ wew
UG faehed T 37T 36 Y9-U o qrf fCTT * STiuwa '’ S Uk W, 36H fau 1T 3y

o AR, Tt i | (1x10)
Hfeede THLRM ORI THRM Afceda

A. B. C. |FTP
Afeeda g2t L

. [ E. [PING F. [®EeR 3fiftes

G. ([ == H. [vo¥ <&y 1. [1024

J. |CPU iR RAM K. (1000 L. |AeEe

M. |ROM

4.1 g% & qhe & fow &n STANT L B

4.2 T foe T &I G 1 & fou Swam foru S aml wfdhe =i & T H S SR
4.3 THSIRTAE. o1 T §9 T |

4.4 T AR ARYE & F2 F WY dlffrha g i LA T
4.5 R HER & o= w7

4.6 UK H GULY TM T UgA IR SHeh! Wi T i o foTu sTawdeh S ed 96T i
e S g |

4.7 THEA I ARG HE & fag 1 YA foran S B
4.8 YhR o helcd H 7o HeX R

49 1KB qZE S ST B

4.10 BIOS Gi®RaX ER S
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4.

4.1

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

4.10 BIOS software is part of

Each statement below has a blank space @b fit one of the word(s) or phrase(s) in the list

below. Enter your choice in the “OMRlanswer sheet attached to the question paper,

following instructions therein.

(1x10)

A Multiple instruction B Memory instruction
" |multiple data " |multiple data
D. |Flip-Flop E. |PING Fiber optic

G. |Computational circuit | H. |Access time.

J. |[CPU and RAM K. (1000

Motherboard

M. |[ROM

For testing the network we use command.

The circuit used to store one bit of data isfknown as

MIMD stands for

Logic gates with a set of input and outpy|

Cache memory acts between

The average time required to reach a stor
called

To transfer the file protocol is

type of cable has glass center

1 KB equals to bytes.

is arrangement of

e location in memory and obtain its contents is
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WIT & / PART TWO

(T8l =R w9l & ST S/

Answer any FOUR questions)

5. (a)

i e A | e R A T e ke ol ol el
forear 9§ s@md |

gre feor & SHU=IH 3% o9 &

e AT |

Explain TCP/IP protocol stack in

detail.

Explain the defragmentation of

Hard Disk with its advantages.
(8+7)

.. TeH iR Heh TgH * o9 AW

AW |

qHehIcTeh 3R STIehITcTeh ST STayl

faftr =t =zme Y|

aRfoeh THT G YOSl o o |

foream & =g |

Differentiate between IP address and
MAC address.

Explain synchronous and
asynchronous data transfer method.

Explain about real time operation

system in detail.
(5+5+5)

HeITHT 3R Hee W& o o= i@
Fand |

foers Fead W X =En w3 & fau
W &l ARAT R

Hdred 1 8?7 TR WAl & deu o
e STurd A |

Differentiate between
multiprogramming and
multiprocessing.

Explain steps to share printer on a

windows network.

What is compression ? Explain

compression ratio with respect to

text files. (5+5+5)
LAN, MAN 3R WAN g & ar |
foream § ard |

T Hgeadl R 8?7 W™
AREIH & S 3 STINT & o |
foreqm | =@t |

Explain LAN, MAN and WAN

networks in detail.

What is Antivirus software ?
Explain working and usage of

Antivirus software in detail. (7+8)
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9, fr=fafaa d 9 frst o9 W dfera feoon
ford :

(a) Tost

(b) 7@ R f=m F o= fade

(c) FeHfem

(d) =9 Irdrarsit

Write short notes on any three of the

following :

(a) Bridge

(b) Differentiation between hub and

switch
(c) Subnetting
(d) Mesh Topology

(5+5+5)

-00o0-
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